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Find the average rate of change for the following functions: 
 
 
1. f(x)=−ln(x+1) in [0,4] 
2. y = 2x + 1 in (1,3) 
3. y=3x2 + 2 
 
4) The slope of the line that passes through the points (3, 6)  and 
(-2, 6) is ____.  
 
5) The slope of the line that passes through the points (2, 10)  and 
(3, 5) is ___.  
 
6) The slope of the line that passes through the points (-2, -
4)  and (3, 2) is ___.  
 
7) If (x1, y1) and (x2, y2) are two points on a straight line then  its 
slope is, m = ____.  
 
8) The slope of the line that passes through the points (-2, 7)  and 
(-2, -3) is ____.  
 
9) If the slope of the line passing through the points (1, k)  and (7, -
9) is -1, find k.  
 
10) Are the following points collinear? Justify your answer. Hint: 
Check whether the slope of AB = slope of AC.  
A (-10, 0), B (0, 5), and C (-4, 3). 
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